 Tiie Graghiofa linear lneyualiiy

1. Solve the following and graph on the provided number line.

a) y+9<11

b)

©)

d

b)

d

: ~-10-8-8~-7-6-5-4-3-2-10 1 2 3 4 S6 7 8 9 10...

2w+5>3

s =10 BB u7-B-5-4-3-2-10 1 2 3 4 56 7 8 9 10...

3x-42>5

ess =10-9-8-7-6-5-4-3-2-10 1 2 3 4 §68 7 8 9 10...

2z+9<3

cee =10-9-8B-T7-6~5-4-.3-2-10 1 2 3 4 56 7 8 ©10...

3x<6

« ~10-9-8-T-B8-5-4-3-2~-10 1 2 3 4 56 7 8 9 10...

4>3t-4 |.

e ~10-9-B+-7-B8-85-4-3-2-10 1 2 3 4 56 7 8 9 10...

2. Solve the following and graph on the provided number line.

2x+1>2

Ix+4<2

6y+4<5y+3

4z-3>3z+2

T+3x<2x+9

i 10 -9-8-7-6-5-4-3-2-10 1 2 3 4 56 7 8 9 10...

e

. ~10-9-8-7-6-5-4-3-2-10 1 2 3 4 56 7 8 9 10...

~- .

- =-10-9-8-7-8-5-4-3-2-10 1 2 3 4 56 7 8 910...

cve =10 =B-BT7-8~5-4-3-2-10 1 2 3 4 56 7 8 9 10...

e

. ~10-8-8~-7-6-5-4-3-2-10 1 2 3 4 56 7 8 9 10...




Solve the following and graph the solution on the following coordinate plane.

a) 6-2x<4 b) 8-3x<5 ) 6x+2<4x+8
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d) 2x+1>2 e) 3x+4 <2 f) 32x-1)=22(1+x)
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